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2017 November New Cisco 400-101 Exam Dumps with PDF and V CE Free Updated Today! Following are some new 400-101
Questions:1.|]2017 New 400-101 Exam Dumps (PDF & VCE) 748Q& As Download: https://www.brai ndump2go.com/400-101.html
2.|2017 New 400-101 Exam Questions & Answers Download:
https://drive.google.com/drive/folders/OB75b5xY Lj SSNWWsyOTJRUHJIFVV Uusp=sharingQUESTION 106Refer to the exhihit.

With BGP always-compare-med enabled, which BGP entry isinstalled in the RIB? [ entryl: _?-'_51!’“2"_!*! 409, meg 150, external,” rid Z
SHAFRAT ARSI ZORIFE ALY §06) E3Eeh) G5 0))
entry3: AS(PATH) 400, med 100, dintermal, rid 3.

A. Entry 1 becauseit wasinstalled first (oldest) in the BGP table.B. Entry 1 because it has the best MED of the external routes.
C. Entry 2 because it hasthe lowest router ID.D.  Entry 3 because it has the lowest MED.Answer: DQUESTION 107Refer to the

exhibit. What type of 1S-IS is configured on R1? .|

R1

interface Loopback(
ip address 17Z.16.1.1 255.255.255.25S
ip router isis
1pvé address 2001:DBS:1111::1/128
ipvEé router isis

l-) - =4 - - - = 3 Y -,
I AN Ay A ST A T A I REAT Nl
ip address 15S2.168.10.1 255.255.255.0
ip router isis
ipvE address Z0OL1l:DES:10::1/48
ipvE router isis

router isis
net 0l.0001.0000.0000.0001.00

A. VRF-awarelSISB. 1SISversion 2C. single-topology IS-1SD.  mufti-process |S-1SAnswer: CQUESTION 108Which
statement about Cisco StackWise technology istrue?A.  All switchesin a stack share configuration and routing information to

behave asasingleunitB. Removing switches can affect stack performanceC. Only the master switch acts as aforwarding
processorD. Every switch in astack hasits own independent and uncoordinated configuration file, which enables it to become the
stack master if the previous master failsAnswer: AExplanation:Configuration and routing information is shared by every switchin

the stack, creating a single switching unit.

http://www.cisco.com/c/en/us/products/col | ateral /switches/catal yst-3750-series-switches/prod white paper09186a00801b096a.html
QUESTION 109Refer to the exhibit. Which two statements are true regarding prefix 10.1.0.0/24? (Choose two.) [#" #&= maszes mrassicmciass

(OER Prefix Statistics:
Fas - Passive, Act - Active, 5§ - !

Flags state

PasLDly FPasLDly FasSUn

ActSDly ActlDly ActSUn
10.1.0.0/24 N M

INPOLICY ™
52 52 o
3 | sl o

A. Theprefix isin policy, and Cisco PfR rerouted the traffic via 10.4.5.3 Et0/1 because of an OOP event.B. Cisco PfRis
monitoring the prefix via passive NetFlow mode only.C.  Cisco PfR is monitoring the prefix via active, fast, or active throughput | P
SLA probe mode only.D. The prefix isin policy, and Cisco PfR did not reroute the traffic via 10.4.5.3 Et0/1 because the traffic
was previously in policy.E.  Cisco PfR is monitoring the prefix via mode monitor, which provides both NetFlow and IP SLA
measurements.Answer: DEQUESTION 110Which feature can mitigate hung management sessions?A.  Control Plane PolicingB.
the service tcp-keepalives-in and service tcp-keepalives-out commandC. the service tcp-small servers commandD. vty line
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ACLsAnswer: BQUESTION 111What are two requirements for BFD static route support? (Choose two)A. CEF must be
configured on al routers that will carry traffic.B. BFD must be configured on all Ethernet, virtual-template, and dialer interfaces
that will carry traffic.C.  All routers that will carry traffic must have the same software version.D.  All routers that will carry
traffic must be the same model.E.  Parameters must be configured on all routers that will carry traffic.F. Parameters must be
configured on al interfaces that will carry traffic. Answer: AFQUESTION 112Refer to the exhibit. Which two actions can you take
to alow the network 172.29.224.0/24 to be reachable from peer 192.168.250.53? (Choose two) | **

ip community-list 10 permic £4512:100 £4512:200 €45212:416

route-map INTERNET=QUT permac 10
mATCR community 10

router bgp &4512
no synchronlzation
NTERNET peer—group
NTERNET remote—ad 64513
neighbor INTERNET password claco
neighbor 192.168.250.53 peer—group INTERNET

addieaar il gvd T pa =g " -
< r x = - “Tall 2 v r
VAL S ralNALUImpLC
neighbor INTERNET send-community both =
neighbor INTERNET route-map INTERNET-OUT ocuc

Rl#show bgp 172.29.224.0

BGPF routing table entry for 172.29.224.0/24, weraion 60725
Fachs: (1 available, best #1, table defaulz)
Mulcipach: eBGP 1BGP
Advertised to update—groups:
3 4 7
53739
10.10.153.12 from 10.10.153.120 (10.10.153.12)
Origin IGF, metric O, localpref 130, valid, ex
Community: €4512:555 64513:200 @4513:53000

A. Modify the community list to match communities 64513:69040 attached to 172.29.224.0/24.B.  Configure soft
reconfiguration to peering 192.168.250.53.C. Madify the outbound route map to permit all additional routes.D. Configure
additional address families to peering 192.168.250.53.E. Modify the inbound route map to permit all additional routesF. Modify
the community list to match community 64513:64090 attached to 172.29.224.0/24.Answer: CFQUESTION 113Which two options
are potential impacts of microbursts? (Choose two.)A. unnecessary broadcast trafficB.  asmmetric routingC. tail dropsD.

invaild checksum errorsE.  packet lossF.  inicast floodingAnswer: CEQUESTION 114Refer to the exhibit. Which two conclusions
can you draw from this command and its output? (Choose two.)

Rl0#ping mpls ipva 192.1€8.40. 170/32
uA ‘d-%ﬁ;ﬁtfa_ﬁfwf—.ﬂﬂ BN OMAIITN

Success rate is 0 percent (0/5)

A. R10hasamissing label binding for 192.168.40.171/32B. The MPLS ping failed.C. 192.168.40.171/32 existsin the global
routing table.D. A valid LSP exists, and it matches the corresponding MPLS FEC.E. The MPLS ping was successful.F. R10
has valid label bingding for 192.168.40.171/32Answer: ABQUESTION 115Which DHCP message type does the DHCP server send
to aclient to confirmits allocated |P address?’A. DHCPACKB. DHCPOFFERC. DHCPDISCOVERD.
DHCPREQUESTAnNswer: AQUESTION 116Which statement about a Cisco APIC controller versus amore traditional SDN
controler istrue?A. APIC uses apolicy agent to translate policiesinto instructions.B.  APIC supports OpFlex as a Northbound
protocol.C. APIC does support a Southbound REST APID. APIC uses an imperative model Answer: A!''RECOMMEND!!!
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